
In vigore dal - Effective from    15-12-202128

PEDALIERA ARRETRATA MINI
MINI RUDDER PEDALS

AC

AH

H

AH

I

Q

Q

W

W

AB

AB

O

O

Y

Y

AA

AA

P

P

AF
AE

K

AD
X

J
AA

AA

AA

AA

M

N

Y
Y

Y
Y

Z

Z

AC

AC
AC

R

S

AF
AF

E

AA

AA
G

A

B

AG

AG
F

C

D
L

Mini NEOS Mini ROOKIE EV

Tav. 13



Rif. Cod. MINI RUDDER PEDALS ￥

13 Description Tax  included
A 0010.00EAKIT ﾗﾀﾞｰﾍﾟﾀﾞﾙ Kit NEOSｽﾁｰﾙ Complete rudder pedals for Mini NEOS 37,180
B 0010.00EBKIT ﾗﾀﾞｰﾍﾟﾀﾞﾙ Kit Rookie EV ｽﾁｰﾙ Complete rudder pedals for Mini Rookie EV 37,180
C 0010.00B2 ｻﾎﾟｰﾄﾌｯﾄｻﾎﾟｰﾄ Support for adjustable footrest 8,030
D 0010.00B2A ﾌｯﾄｻﾎﾟｰﾄｽﾍﾟｰｻｰ2mm Support for adjustable footrest 2 mm 935
E 0010.00B2B ﾌｯﾄｻﾎﾟｰﾄｽﾍﾟｰｻｰ5mm Support for adjustable footrest 5 mm 1,210
F 0010.00B3 ﾌｯﾄｻﾎﾟｰﾄｽﾍﾟｰｻｰ 10mm Spacer 10 mm 1,540
G 0010.00B4 ﾌｯﾄｻﾎﾟｰﾄｽﾍﾟｰｻｰ 5mm Spacer 5 mm 1,320
H 0010.00EB6DX ｾｰﾌﾃｨｰﾌﾟﾚｰﾄ MINI/R Safety plate for Mini Kart rudder pedals 132,5 mm DX 4,180
I 0010.00EB6SX ｾｰﾌﾃｨｰﾌﾟﾚｰﾄ MINI/L Safety plate for Mini Kart rudder pedals 132,5 mm SX 4,180
J 0010.00E3 ｱｸｾﾙﾛｯｸﾌﾟﾚｰﾄ MINI Accelerator locking plate for Mini Kart rudder pedals 4,180
K 0010.00E5 ﾍﾟﾀﾞﾙﾌﾞｯｼｭ MINI Bush for Mini Kart rudder pedals 649
L 0010.00EA1 ﾍﾟﾀﾞﾙｻﾎﾟｰﾄ MINI Mini Kart rudder pedals support 2,640
M 0010.00EA2 ｱｸｾﾙﾍﾟﾀﾞﾙﾌﾟﾚｰﾄ MINI Accelerator pedal plate for Mini Kart rudder pedals 3,850
N 0010.00EA3 ﾌﾞﾚｰｷﾍﾟﾀﾞﾙﾌﾟﾚｰﾄ CADET Braking pedal plate for Mini Kart rudder pedals 3,850
O 0010.00EA6 ｾｰﾌﾃｨｰﾌﾟﾚｰﾄ MINI Safety plate for Mini Kart rudder pedals 4,180
P 0016.FE ﾍﾟﾀﾞﾙｽﾌﾟﾘﾝｸﾞ MINI ruddesr Mini rudder pedal's spring 1,760
Q 0017.001 ﾍﾟﾀﾞﾙｽｸﾘｭｰｽﾍﾟｰｻｰ Pedal screw spacer 1,089
R 0118.200 ﾏｽﾀｰｼﾘﾝﾀﾞｰﾛｯﾄﾞ 200 mm Brake pump control rod L.200 mm 2,970
S 0118.240 ﾏｽﾀｰｼﾘﾝﾀﾞｰﾛｯﾄﾞ 240 mm Brake pump control rod L.240 mm 2,970
W 0226.01 ﾘｱﾌﾞﾚｰｷｷｬﾘﾊﾟｰｻﾎﾟｰﾄｽﾍﾟｰｻｰ ROOKIE Bush spacer 891
X D.M6 ﾅｯﾄ M6 Nut M6 11
Y D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 22
Z D.M8A.B. A.B. nut M8 33

AA R.P.6X11 ﾜｯｼｬｰ D.6x11x1,5mm Washer Ø 6,4x11x1,5 mm 11
AB R.P.8X12 ﾜｯｼｬｰ D.8X12 Washer Ø 8x12x2 mm 11
AC V.TB6X30 ﾎﾞﾀﾝｽｸﾘｭｰ 6X30 TB screw 6x30 mm 99
AD V.TB6X35 ﾎﾞﾀﾝｽｸﾘｭｰ 6X35 TB screw 6x35 mm 99
AE V.TCE6X40 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X40 TCEI screw 6x40 mm 55
AF V.TCE6X45 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X45 TCEI screw 6x45 mm 66
AG V.TCE6X50 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X50 TCEI screw 6x50 mm 77
AH V.TCE8X45 ｷｬｯﾌﾟﾎﾞﾙﾄ 8X45 TCEI screw 8x45 mm 99


